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Cbnurlbtrn 252.00
421500 UqtuhnduqnurLrutr &uluubn

6651 0000 ru q ur h n {uqp n Lqn rtr/46 0CL6l uu hu.rm 18,000 1 180
6651 0000 u q u h n {uqp n rprn Ltr/303QQ1 0l r.Iu huLn 9,000

1 9.0
Ctrnrurlbtrp t8.0
423200 (urftuhrunqtulhh 6unulnrar ufu

721 00000 423200 (urdur!upqluthL 6unu.rrnrtarnrtr r.tu 137.0

137.0
423900 Ctr4hurfu nrn pbnrJph Oruluubp

721 00000 CL4huLnLp ptrnUph durfuubp rJu 130.4
Ct4urlhtrp

130.4
lI11 6ufu u bpl0u nul nrplnrtr

63511400 fl rltrnpw{rnfuu4pn LrI bptrutrnLd hurLn 20,000 1 20.0

63511400 0qhnpurrlrnfu u4pn LrI bphurtrnLd
huuun 35,000 1 2tr n

CL4urdbLp
55.0

lljl dufuubp/uqprubp

14521200 lu u1lbpbfu rutrbpirb dlpunblnr hurtLup nurm 2,500 55 137.5

Ctr4uLIbLp

424100 Uruuhruqhrnuhub dunurnrrarnrb
lfu ub r.uqfr r.n ur ! uU 6ur nru tn LBtn Ltr

31il100 Un lurtr ntr4hubnrn pLLnLprnLtr JU hu.rr,n 3,000.0 1.0 ?n
/3il1100 h dn Ltl ur p utr ur ! urtr 1ur p n p u Ln n n h bm ur q n, nr.a, nillu-l huun 13,000.0 r.0 13.0

t3511400
0 hll.rn p ur r.lr n [u ur 4p rlutr 6u nu1 n Lp.; n Ltr h n rtr {u p JU dhu 3,600.0 1.0 3.6

r400

0 l.1trn p ru rJr n fu u 4p dutr 6u nurl n p1 n rtr rfti1 fr u

qhbnp{up [tu udfru 12,600.0 1.0 12.6

i3511400
l-lhltrnprurrhnfuu4ptlurtrdurnrulnLplnrtrdupLn 

luu lr.fp, 7,200.0 1.0 7.2

13971200
f{urU[rlnt4urtr[rhnrluplur{npdurtrhr.udurp l,fu huLn 100,000.0 1.0 100.0

r5r21100
alurppbpur!urL pd2l1u!urL ptrLn LplnLtr r.Ju ,J,rrn4 5,000.0 1.0 5.0

85r21100
rhup pbp ur ! utr pd2! ur ! rrrtr ptrtrn Lpln tr uU l,lrn+ 5,000.0 1.0 5.0

Ctrnurrlbtrn 149.4+zJtuu GbLpbpfr [r lunnrlqLbnh nfuraruqhL trnnnonrrf lr lrrrrrhrrr rhnr rf
Gbtrpbnh tr hrunnqgtbpf ntrBruqhh trnnnqr,lf h uu

Eb4ufbtrp
rulnuqn qu+nqurqnn nrlnn4fit r.tu hum 949 10 9.49

Jurtpur{nn funrln{ur! dur1nLfufr hurdup 20dT r.tu d 120 Arl 6.00
utrguLnFt urpnuphtr 2urbrl U'U hurm 390 J 1.17
UL2uLnhi urnmruphtr I urbrl tu hutn 630 J r.B9
9nnnp 12q12rjtl uu nurm 349.9 10 3.50

31651400 l.IbUnLuh: durqu{btr tru hu.rm 140 10 1.40
M311140 alulLnnrhurtrh gutrg r.tu LIbmn 680 20.40
,1221180 Lpurn urFrnruptrtr qurrrrptr ruupUgqnrfp2rutru.![Gf,Gip! rJu hrlLn 280 20 5.60
39715100 S urpr" g n,g h:h lbn.tru q run@iFf rJu hu.rm 1000 5 s.00
39715210 .lnnurgLnq dbpbtrurJh nE6 .,'' ,':... tJu huun 10000 I 10.00

1341i220 uu hurm 1200 I 1.20



39511110

l-n ru uLnn ILED u:pmurpfrtr ! 1n p/DppurtruQp Q1np, 25w-

3 6w, 650 0 k, 2p2urtr ur ! | m p u-l rluqlr6p 2O -25url,
tttnrnrrrnhlr rrrrlnhnr lnn

r.tu
nuiLn

3620 5 18.10

42130000

bn p u ! 1t{ug ur p utr fr r.|1r ur Ln b1u 4p Lln 11, tr ufu um bu {u6
murp [r uurn[ 9pf hurrlup, 6npulfr f pruLp

urlpn qgn Lp1 ur rIp L bp dfr g

uu
hum

6400 3 19.20

39511r10

LnLuumn L LED trbp!unn Lng{n t, !tnn 2p2utru!n {,
2p9ul Lulfr uip Lnupfrtr Lnpurrluqfrdp 220-230dd, I 8W

6500K

rJu
huLn

2750 6 16.50

39511110

Inruu.rpdu.rll LED/LED lnLuuldru! trurfuutrbuLlud 4punLd
Lnbrlu4pLlutr hurlurp, 6500k, 1P66, 50W, DEKOR Uud

hu.rdupdbp

rJu
hu.rm

6300 18.90

128.9
425200 Lrbpbbubbnh h uurnpu{nnnrftbp[r nLprushU trnpnqnrf [r ruruhrurutrnrrl

S n urtr u ul n n m u t htr u u.r n p u tl n n n LdL bn h ntr raulo h lr rJu
50111330 CastrolSW40 6,s00 4.1 26.7
34321121 3nLnh qmhr2l 0801 01200508 hurur 5,000 5.0
34321121 O+h qr"nhl Lada larg 8450033130 hu.rLn 10,000 10.0

1110 ULLnhbnhq [4uqnLlm 0892332050704 3,500
1921 1 1 00 Wd 2urpdflir lnrrlir L tnnh qmheh rhnfuunhtrnrd hu.run 4,000 1 4.0
34300000 U/d zurndhlh onh qmhrh rhnfuurnhtrnLd hu.rm 2,000 I 2.0
30121500

30121500

30121500

30r21500

301 21 500

30121500

30121500

30121500

l-nLu. Bdpn rllh ri nfu runhtrnLd CanonT 37 huLn 4,000 1 4.0
Punpnhsh thgpw{nnnLrl CanonT 37 hu.rLn 5,000 8 40.0
l.IuBpnq 4urtrru![r qhnfu up]rtrnrd EP22 hutn 2,000 6.0
Lnu. prJpn Llf {rnfuurplrtrnLd CanonT 37 hr.uLn 4,000 12.0
Punpnhlh firgpur{npnLd EP22 hu.rr"n 3,750 4 15.0
Pu p pn hlh frgpru L{n pn LrI I MP -C4O92l EP22 hutn 5,000 15.0
tqnpnh# frgpurt{npnLrl Canon FXl0 hu.run 5,000 ? 150p*n pn hlh [r gpur {n p n rd Phaser3117 I 3122 hu.rr"n 5,000 5 15.0

0921 11 00 Supdflfr lnrl ELF SPORTI 9 C3 5 W40 L 6,300 4 25.2
34321121 3n Lqh q r.nlr121 0801 01 200528 hrrun 3,675
34321130 41 0608481 R urpqbgr14duL qn6qurtl hurm 46,200 46.2
31440000 62 3703010CT62 Wtt-h dupmllng Ulnrl hu.rLn 71,400 ,l

71.4
0921 1 1 00 Cundh:h lnLq h lnqf qmfrfr rlrnfuupfrtrnLrl hr.utn 3,780 1 J.6

34321150

Unphf
upqblu!ur1fitr Qn6r1ultrbp[r/u11u{unru!Lbpfr/

qhnfuurpf trn Lrl,trbpun1u 
1 urLhrth hurLn Ld,

Lnbrlur4pnLd hum 4,724

1

47

34321 1 50

Unptrf uipqbluQu4irtr

!n6rlrlabbpfr/uQur{urnur!trbpfr/

f nfu upf trn LrJ,trbpr.un1ur 1 urLh{h h urtrn Ld,

Lnbrlu4pnLrI huun 1,416

I

1.4

Cfunrurfbtrn 319.6426100" Cnrxfitturtr,r,tl ttr fulnrrabn L huq.nruu

301 97620 dn Lrya r.n q urqfr ur ! uitrA4 uu mnL*r 2000 20 40.0
30197231 $ur.lt A4 50rlf lpn r.tu mnLrh 1200 6 7.2

30197232 ?ryaur u{ ultl u 14 ur p urqur l4 ur p Ltu hurLn BO r00 8.0
30r 97233 f)qpuquLurU luqnr{ r.tu hu.rr"n 80 50 4.0

301 97235 fdruaru u{ utr ur tl nb+h u u1 n
rJu huLn 600 3.0

30192121 $nh: qtr+httu4nn rJu nuLn BO 100 8.0
30195931 UunUbn qpuunu[uLnurll uu hurm rB0 10 1.8
30197322 9urnh: Kangaro hd-45 rJu 'lum 1200 z 2.4
3Cr92160 cLnnhfu qnhr r.tu nuLn 10n 1q 2.9
24910000 Unuftrb rJu hutn 240 10 2.4
39263400 Udnultt/uLnbul/ .- .I rJu hr..urn 90 q 0.5
22811130 Sbmn 48pbpp uu hurm 145 35 5.1
2281 1 1 30 Sbmp 96pbpp '. ,'.,,. uu hu.rr,n 235 tc J.5

l :',.,' ,' ' 
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2281111 1341 9nu-rubLrLuUur rhtr qhnp -tr- i'J 8.5

301 99400 L2nLdLbplr !qinrL pnLrp JJ !'l r Ln toJ 4.0

39263520 Unun A4 rurh rJu h u-r Ln 35 25 0.9

30197322 UbndurL 1 9ild/UbqLlu!1 9dtl/udpiu! utr
rJu hu-tu 120 5 0.6

301 40000 I Lu nhlh(um bu.t rbh) ur ubn IJU nuLn 140 20 2.8

301 921 1 1 9trlrpir pupdf ! CentrumTOxl05dd
rJu nuLn 300 2 0.6

42991 3 1 0

\uulruu9lrujlrnar rdrilril6lril5 f wuLils) rvv rvuLl

21 6x303mm 5mill 25micron2FMASTER
rJu l|'uLn 5000 I 5.0

22820000 (ul2{ Lu q Lu h Lu !urtr 6 Lru pqpbpT
rJu 1tl.,|Ln

3B 1100 41.8

22820000
U;l dLruupqpbp

r.Ju nurLn 4B 50 2.4

22820000
(Lu2L.l u u1u h u U Lutr d LLu Bn pbn6

uu num
38 100 3.8

22820000 (ur2{ urquhur!uL 6trupqpbp5
rJu nuLn

1B 50 0.9

22820000
(u2{uquhu!uL d[rupqpbp4

rJu nuLn
18 800 14.4

35821 400 (( rlbLnLulrulr rlnn2

rJu nuul
9000 I 9.0

CtnrufbLn 183.4

(urtrnbndrutrp
1 8231 600 hu-rtrnbndu-rLp LU6 989.7

CfunrufbLn 989.7
426400 Snutrurunnmrurhtr trrn Lrabn

191 32200 PbLqhtr EUd r50 490 73.5
191 32200 Pbtrqhtr hu6 400 490 196.0
191 32200 Pbtrohtr hu6 550 490 269.5
191 32200 FbLqhtr hud 5s0 475 to l.J

800.3
426600 llnnnour ulu [turL r ru nu nru rnnn lrrnrabn
nbnnnurrp 2024 rJu

3361 1 1 50 I p bnL/rluL L1 p bLu ur [rL 1 0000 rJu nurn 108 660 71.5

33691 1 76 $bLIumf /af dbLn[Lr1bL 1dq/d1 rJu br 2,277 2 4.6
3361 0000 3b$rnp[rLu!unb Luuurbpf Lu /SbgmnhuUuntr I qn rJu $L 1,872 20 37.4
24451141 C2bp[ ufunurhtutrdLutr hbqnL! 2[!n lud uu 2,000 6.0
24961400 CLhghnht h LI[r\pnhnqtrLu/q1[rgbpn1 5d1 rJu hum 104 100 10.4
33691 1 29 $hq rnL6nLrB/Sol.Nacl 0,9% 200rjl r.Ju 1,s00 q 7.5
2431 1 530 Apu6LI qbpopufrr/3% 1 00d1 uu .hlum 110 1 0.2
2431 1 530 PdrULutrutr dbntrnq/N Ll 00 rJu nuiLn 1l 200 2.2
33661122 h pn Lq p n$btr/[ pn rq p n$btrl 00dq/5d1 uu $r 1,400 6 7.0
33671 1 30 +f dbap n /+fr$bbhlrrlp u rJhL 1 0LIdd1 rJu unq, 31 l0 0.31

3361 0000 S btr I u Ln [ 1 ! u pfr 1L bp/rpfr dbrn htr r]bl 1 dq/d 
1

uu br 2.277 5 11.385

t:961 400 qLhShnht, dfr!pnhnqLLu/qilrgbpn1 5d1 rJu huuu 104 100 10.40

33000000

uuql]tnp ppn qurpnt /UpufrdbunurqnfiL[r

hhrlpLuplnph40, 025% 1 0d1

rJu

$L 684
10

6.84
33 691 730 tJbrlh$bp/b p ! u pf ( i i i ) hf 4popufr4 sorfq/rl1 30rI1 uu $L 1,670 A 6.68

33 651 1 45 rlbpuudbmuqnL /rybpuLudbmurqnL adq/d1 rJu unq, 7B 1.950

33o51145 hpnLqpn$bL o2urpu!/frpnLuipngbtr 1 00Lidd1 rJu <L
.P 1,400

EJ 7.00

33631 470

qbtr tnudfrgfrtr, pbrn Lu dbLn u-rqntr

0,5dq+l 0Llq+l dq/1 qp 3Oqp

r.Ju

nurul 1,958

2

3.916
33000000 UnLqpu.ruLnlrtr 25dq rJu Lnn lqn r,190 2 2.38

33671 1 39

Pbpn ryn Lu/hqp u mpnqfrn Ld pp n pfr q, gbL n p n p n 
_

0,25LIq+0,5ddd1 20rI1

rJu

$r 2,300
2

4.60
3361 0000 LIblu Ln ntr [rL/dbluurnlrirL 3dq uu nLup IUC) 180 19.10



33000000 S ulr m n LtI 4bn +b/F blqfr rlLU dhtr 0, 255 dq/1 rynq 3 0 LI

rJu

$r 2,200 6.60
3361 C000 $np1u-rpu 4q tlrupbp qhn2fr N20 rJu r.Iurp 3,096 10 30.96

UpLu!mbp[r11 rJu
hutLn s,000 3

1 5.00

tbnpfr uiuLnuhutr[r1 hbrlnLtl rJu huLn 1,950 6 11.70

Fd2!u!wL uq[rpur96%11 rJu nu[Jt 1,220 3 3.66

33671113

Uupn LLnudnl Lufpnqnl, ur,upnLLnu.rdnl
'l00dd1r1nqur

rJu

$r 756
2

1.5

33000000 lJblu.r Ln nL frlr/db1u m ntr lrL 3 dq r.Ju
nurp 106 180

19.1

33000000 hu q n dhqLutr /ufr dbLn lr lq Lutr 40dq/d1 rJu
$L 1,713 5 8.6

3369r236 U n Lq n Lu u m hL/p 1n p n q fr p Ll LIfrL h [r qp npln p fr ry 25 dq

r.Ju

nup 49

40

l.98

-i951100 S LUL Lnn LLI {bn ryb/pbLqh ryur dfrL 0,255dq/l 4nq 3 0d

rJu

$r 2,150

2

4.3

33141115 Purdpu! pd2!u!uti rJu qq r,800 1 1.8

445t141 C2bpfr ufu unuuhr-uLriLuL hbnnilt rJu
I 4,000 10 40.0

24961 400 qLhghnhL dhttnnhnqtrur/qflrgbpn1 5d1 r.Ju huLn 9B 300 29.4

24951 1 00 Ubryu !nbd LluqULfrtr,lurln[rL,gfrLQfr oBufrq 25qp

uu
nuru'l 1,060

10

10.6
.--yo rz+uu CLhghnhlrh rinLI[rq/q1[rqbpn I 1 qp N1 rJu

$i 68 20 1.4

| ftf L{uLn1lnrbnLlp/fmulf ph+ht 1Lu!muLn O,t%
136:1180 | 100rj1

rJu

$r

5

tJ) 0.7
i 3:C0000 tJuLUuttuL guLur.hn2fr 1 00qp lJu nwm 303 6 1.8

::fl lltl 3b$LnnhuQunL 1p /SbgurplrLu!unL I qp uu q.
Y 1,850 20 ?7n

: l a:'1 B0 rlJ n Lgu tu ! o2u n Lu llltru ! un nqu 6 67 LIdd 12 0 0 d 
1

rJu
$L r,900 4 7.6

FfrLun umbpfrl 1 01I"1 6urJ rJu num 220 5
1.1

UltL LugluL pun L!,91n Lg fr n lntrLu u_rg bur ntr fr q 0, 025%

1 5qn

rJu

nuut 181

trJ

0.9
ugf'qlnqhp,LughULn{hn 200LIqN25 r.Ju mn[q] 346 10 ?5
Sbunnughlqfrtrfr duq u1pfrl% 3qp uu hur.n 36s 3

1.1

:: aii'230 Pbm tu rlhlr 1p/a)n t{[r r]ntr 
1 

n ry 1 00 LIq/d1 1 20111 rJu
$r 600 J 1.8

Snplupu 4q i.frurpbp {rn2fr N20 uu
Ln n rql 14 43.3

unpuhghl u.rtph ttupht/dnpunglnpuurqlrtr 0,5% 5dr

rJu

$L 2.400

5

12.0

219 PdZU u U utr qLlu Lu p ! dbll Lutr qu d1 Lu oqLn r-uqn pbdutr

rJu

nuLn 10

300

3.0
unnqnuujJnu JnrqF ulnFubpubp, L{[Lnuulfl 3 1n Lrl

+h tlbph 
U nL, 4fr Llbpfr q n 

1, 
gbln [ 1 rtbpfr!ntr

<rju
hurm 11 ,540

to
184.6

: _14+22511 l--flhnnpuhtr Nl00
rJu

unLqh 1,080
10

10.8
Ctr4urlbtrp

717.1
Ctr4ru rIbLp ru q n ultrptr bn 39.858.6

CL+ru dbLp du nulnrpln rtrtr bp 13,097.03
Ctr+urlbtrn uqpurtrBtrbp h 6,unruInr'B1n,.t t bn 52.955.60
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